Chapter 18

9. Percentage of Sales Models. Here are the abbreviated financial statements for Planners

Peanuts:

INCOME STATEMENT, 2003

Sales 

$ 2,000

Cost 

1,500

Net income
 $ 500

BALANCE SHEET, YEAR-END



2002 


2003 


2002 


2003

Assets 

$ 2,500 

$ 3,000 
Debt 
$   833 

$ 1,000








Equity    1,667 

   2,000

Total 

$ 2,500 

$ 3,000 
Total 
$ 2,500 
 
$ 3,000

If sales increase by 20 percent in 2004, and the company uses a strict percentage of sales planning model (meaning that all items on the income and balance sheet also increase by 20 percent), what must be the balancing item? 
What will be its value?

The balancing item will be equity , its value = 2400
10.  Required External Financing. If the dividend payout ratio in problem 9 is fixed at 50 percent, calculate the required total external financing for growth rates in 2004 of 15 percent, 20 percent, and 25 percent.

	Income Statement
	2002
	2003
	2004 / 15%
	2004 / 20%
	2004 / 25%

	Revenue
	
	2000
	2300
	2400
	2500

	COGS
	
	1500
	1725
	1800
	1875

	
	
	
	
	
	

	Taxes
	
	
	
	
	

	Net Income
	
	500
	575
	600
	625

	Dividends
	
	250
	287.5
	300
	312.5

	Retained Earnings
	
	250
	287.5
	300
	312.5

	
	
	
	
	
	

	Balance Sheet
	
	
	
	
	

	Assets 
	2500
	3000
	3450
	3600
	3750

	
	
	
	
	
	

	Liabilities and Equity
	2500
	3000
	3450
	3600
	3750

	   Debit
	833
	1000
	1150
	1200
	1250

	   Equity
	1667
	2000
	2300
	2400
	2500

	
	
	
	
	
	

	Required External Fianancing 
	
	
	200
	350
	500


11. Feasible Growth Rates. What is the maximum possible growth rate for Planners Peanuts (see problem 9) if the payout ratio remains at 50 percent and

a. no external debt or equity is to be issued

Internal growth rate 
= retained earnings / assets



=  250 / 3000 = 0.833333  (2003)
b. the firm maintains a fixed debt ratio but issues no equity

Sustainable growth rate =  (retained earnings (1 + D/E))  /  (debt + equity)  =  
0.0636746

12. Using Percentage of Sales. Eagle Sports Supply has the following financial statements. Assume that Eagle’s assets are proportional to its sales.


INCOME STATEMENT, 2003

Sales

 $ 950

Costs 

    250

Interest 
      50

Taxes 

    150

Net income 
 $ 500


BALANCE SHEET, YEAR-END




    2002 

2003 


2002 

2003

Assets 


$ 2,700 

$ 3,000 
Debt 
$ 900 

$ 1,000









Equity 
 1,800 

   2,000

Total 


$ 2,700 

$ 3,000 
Total     $ 2,700 
$ 3,000

a. Find Eagle’s required external funds if it maintains a dividend payout ratio of 70 percent and plans a growth rate of 15 percent in 2004.
Eagle’s required external funds =  $300    ??

b. If Eagle chooses not to issue new shares of stock, what variable must be the balancing item?   What will its value be?
Retained Earnings  =   ??  
c. Now suppose that the firm plans instead to increase long-term debt only to $1,100 and does not wish to issue any new shares of stock. Why must the dividend payment now be the balancing item? 
What will its value be?

13. Feasible Growth Rates.

a. What is the internal growth rate of Eagle Sports (see problem 12) if the dividend payout ratio is fixed at 70 percent and the equity-to-asset ratio is fixed at 2⁄3?

b. What is the sustainable growth rate?

Chapter 20

6. Lock Boxes. Sherman’s Sherbet currently takes about 6 days to collect and deposit checks from customers. A lock-box system could reduce this time to 4 days. Collections average $15,000 daily. The interest rate is .02 percent per day.

a. By how much will the lock-box system reduce collection float?

b. What is the daily interest savings of the system?

c. Suppose the lock-box service is offered for a fixed monthly fee instead of payment per

check. What is the maximum monthly fee that Sherman’s should be willing to pay for this service? (Assume a 30-day month.)

9. Economic Order Quantity. Assume that Everyman’s Bookstore uses up cash at a steady rate of $300,000 a year. The interest rate is 3 percent and each sale of securities costs $20.

a. How many times a year should the store sell securities?

b. What is its average cash balance?

15. Inventory Management. A just-in-time inventory system reduces the cost of ordering additional inventory by a factor of 50. What is the change in the optimal order size predicted by the economic order quantity model?
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7. Trade Credit and Receivables. A firm offers terms of 3/15, net 30. Currently, two-thirds of all customers take advantage of the trade discount; the remainder pay bills at the due date.

a. What will be the firm’s typical value for its accounts receivable period? (See Chapter 19, Section 19.1 for a review of the accounts receivable period.)

b. What is the average investment in accounts receivable if annual sales are $20 million?

c. What would likely happen to the firm’s accounts receivable period if it changed its terms to 4/15, net 30?

8. Terms of Sale. Microbiotics currently sells all of its frozen dinners cash on delivery but believes it can increase sales by offering supermarkets 1 month of free credit. The price per carton is $50 and the cost per carton is $40.

a. If unit sales will increase from 1,000 cartons to 1,060 per month, should the firm offer the credit? The interest rate is 1 percent per month, and all customers will pay their bills.

b. What if the interest rate is 1.5 percent per month?

c. What if the interest rate is 1.5 percent per month, but the firm can offer the credit only as a special deal to new customers, while old customers will continue to pay cash on delivery?

13. Credit Decision. The Branding Iron Company sells its irons for $60 apiece wholesale. Production cost is $50 per iron. There is a 25 percent chance that a prospective customer will go bankrupt within the next half-year. The customer orders 1,000 irons and asks for 6 months’ credit. Should you accept the order? Assume an 8 percent per year discount rate, no chance of a repeat order, and that the customer will pay either in full or not at all.

